Word Problems: Multiplying and Dividing

Solve the problems using multiplication

Matthew is playing marbles. He has 2
bags and each bag has 2 marbles. How
many marbles does he have in total?

Maria made 6 pies. She cuts them into 7
slices. How many slices does she have?

Maria made 3 pies. She cuts them into 10
slices. How many slices does she have?

Paul invites 3 friends to his birthday
party. He gives each one a bag with 6
candies. How many candies did Paul give
his friends?

Matthew is playing marbles. He has 6
bags and each bag has 7 marbles. How
many marbles does he have in total?

Paul invites 4 friends to his birthday
party. He gives each one a bag with 8
candies. How many candies did Paul give
to his friends?

myBlee



